


44

SERVICING

isar - Installation and Servicing

61 BURNER REPLACEMENT
1. Refer to Frame 57.

2. Remove the boiler front and sealing panels. Refer to
Frames 49 & 50.

3. Remove the fan assembly. Refer to Frame 59.

4. Remove the 6 screws securing the burner (the 3 screws at
the rear are extended to ease access).

5. Lift off the burner from the combustion chamber.

6. Fit the new burner, replacing any damaged or deteriorating
sealing gasket.

7. Reassemble in reverse order.

8. Check the operation of the boiler. Refer to Frame 57.

Note. Take care not to disturb the ionisation probes at the
front and rear of the combustion chamber.

60 BURNER INJECTOR REPLACEMENT
1. Refer to Frame 57.

2. Remove the boiler front and sealing panels. Refer to Frames
49 & 50.

3. Disconnect the electrical leads from the fan.

4. Undo the gas pipe union connection to the injector housing.

5. Remove the screw retaining the fan mounting bracket.

6. Remove the fan and venturi assembly

7. Remove the 2 injector housing screws.

8. Withdraw the injector housing.

9. Fit the new injector housing complete with injector.

10. Reassemble in reverse order, ensuring that the new gas seal
supplied is located correctly in the injector housing.

11. Check operation of the boiler. Refer to Frame 57.
Mounting bracket

7

Ecl 2400

5

Injector

Fan

Gas pipe union

62 CONTROL THERMISTOR, RETURN THERMISTOR & OVERHEAT ‘STAT REPLACEMENT

1. Refer to Frame 57.

2. Remove the boiler front and sealing panels.
Refer to Frames 49 & 50.

3. Unclip the thermistor / thermostat from the flow / return pipe and
withdraw it from the controls compartment.

4. Disconnect the electrical leads from the
thermistor / thermostat.

5. Reconnect the electrical leads and
reassemble in reverse order, ensuring that the
spring clip is securely on the pipe.

6. Check the operation of the boiler. Refer to
Frame 57.

nm7402

Ionisation

Probes

4

5

6

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1544



45

SERVICING

isar - Installation and Servicing

63 IGNITION ELECTRODE REPLACEMENT

64 FLAME DETECTION ELECTRODE REPLACEMENT

1. Refer to Frame 57.

2. Remove the boiler front and sealing panels. Refer to
Frames 49 & 50.

3. Unplug the ignition lead from the electrode.

4. Remove the earth lead from the ignition electrode.

5. Remove the remaining screw holding the ignition
electrode to the combustion chamber.

1. Refer to Frame 57.

2. Remove the boiler front and sealing panels. Refer to
Frames 49 & 50.

3. Unplug the flame detection lead from the electrode.

4. Remove the 2 screws holding the flame detection
electrode to the combustion chamber.

5. Remove the electrode.

6. Remove the electrode.

7. Fit the new ignition electrode, using the new gasket
supplied. Check dimensions as shown.

8. Reassemble in reverse order, and check that no damage
to the combustion chamber insulation has occurred
during the electrode replacement.

9. Check the operation of the boiler. Refer to Frame 57.

6. Fit the new flame detection electrode, using the new gasket
supplied.  Check dimensions as shown.

7. Reassemble in reverse order, and check that no damage to
the combustion chamber insulation has occurred during the
electrode replacement.

8. Check the operation of the boiler. Refer to Frame 57.

65 SPARK GENERATOR REPLACEMENT

1. Refer to Frame 57.
2. Disconnect the leads from the spark generator and

bracket.
3. Remove the M5 screw securing the spark generator

bracket to the flue casting.
4. Remove the 2 M4 screws securing the spark

generator to the bracket.
5. Fit the new spark generator and re-assemble in

reverse order.
6. Check operation of the boiler. Refer to Frame 57.

nm8802

2

3

2

4

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1545



46

SERVICING

isar - Installation and Servicing

66 GAS CONTROL VALVE REPLACEMENT

1. Refer to Frame 57.
2. Remove the casing front & bottom panel.

Refer to Frames 49 & 50.
3. Swing the control box down into the servicing

position. Refer to Frame 51.
4. Unplug the electrical lead from the gas control

valve and disconnect the earth wire.
5. Remove the sensing tube from the gas control

valve.
6. Undo the gas inlet pipe union at the gas

service cock.
7. Undo the union nut on the outlet of the gas

control valve.
8. Slacken the screw securing the valve

mounting bracket and withdraw the valve,
complete with bracket and inlet pipe.

9. Transfer the mounting bracket and gas inlet
pipe to the new gas control valve.

10. Fit the new gas control valve, ensuring that
any seals showing damage or deterioration
are replaced. Reassemble in reverse order.

11. Ensure the sensing tube is correctly replaced
and not kinked or blocked in any way.

12. Check operation of the boiler. Refer to
Frame 57.

67 DIVERTER VALVE ACTUATOR REPLACEMENT

1. Refer to Frame 57.

2. Remove the casing front & bottom
panel.
Refer to Frames 49 & 50.

3. Squeeze the tab and unplug the
electrical lead from the valve
actuator.

4. Rotate the actuator anticlockwise
and pull forward to remove.

5. Fit new actuator and reassemble in
reverse order.

6. Check operation of the boiler. Refer
to Frame 57.

20
40

Electrical
lead

Tab

Diverter
valve actuator

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1546



47

SERVICING

isar - Installation and Servicing

Rear

Front

Combustion

chamber

LH Side

RH Side

nm8748

7

6

5

68 COMBUSTION CHAMBER INSULATION REPLACEMENT

The insulation boards used in the combustion chamber of
this product are made of high temperature glass fibres with a
binder of organic and inorganic materials.

Ideal Stelrad Group recommend that, for your own comfort
and safety and to comply with good working practice, the
procedure described below is followed:

1. Refer to Frame 57.

2. Remove the boiler front and sealing panels. Refer to
Frames 49 & 50.

3. Remove the fan / venturi assembly. Refer to Frame 52.

4. Remove the burner. Refer to Frame 53.

5. Remove the ignition electrode. Refer to Frame 63.

6. Remove the flame detection electrode. Refer to Frame 64.

7. Remove the front and rear ionisation probes.

Prior to removal of the board the following protective
equipment should be worn:

Face mask supplied with the spare part.

Gloves supplied with the spare part.

8. Damp down the combustion chamber area containing the
insulation boards.

9. Remove the split pin and washer from the RHS of the
combustion chamber.

10. Remove the insulation boards.  The replacement boards
are supplied in a plastic bag. This bag should be retained
and the discarded boards should now be placed into it.

11. Sweep any dampened particles and place in the plastic
bag.

12. Fit new insulation boards.
Note.

The boards are designed to be interlocking and should be
fitted as shown.

13. Fit the new split pin and washer in the RHS of the chamber.

14. Remove the gloves and face mask and place them in the
plastic bag.

15. Wash your hands and any areas of skin which may have
come into contact with any of the particles from the
insulation board.

Note. Seal the plastic bag and dispose of it and its contents
into a commercial tip.

16. Reassemble in reverse order, remembering to re-fit the
ionisation probes first.

17. Check operation of the boiler. Refer to Frame 57.

Fit insulation in the following order:

1. Rear.

2. Left Hand Side.

3. Front.

4. Right Hand Side.

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1547



48

SERVICING

isar - Installation and Servicing

69 CONDENSATE 'S' TRAP REPLACEMENT

1. Refer to Frame 57.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Swing the control box down into the servicing
position. Refer to Frame 51.

4. Disconnect the condensate drain pipe.

5. Remove the securing screw and elongated bolt,
pull the trap down and forward to remove.

6. Transfer the drain pipe to the new trap and
reassemble in reverse order.

7. When reassembling ensure the trap is full of water.

8. Check operation of the boiler. Refer to Frame 57.

70 DHW THERMISTOR REPLACEMENT
1. Refer to Frames 57 & 77 for draining the appliance.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Remove the 4 screws securing the support plate and
withdraw the plate.

Note. The M4 screws fit the casing and the self-tapping
screws fit the plastic pump and valve housings.

4. Withdraw the securing pin.

5. Disconnect the electrical lead.

6. Ease out the sensor and discard.

7. Fit the new sensor, ensuring silicone grease is applied
to the 'O' ring.

8. Refit the securing pin.

9. Reassemble in reverse order, ensuring correct location
of screws in support plate, and that tabs on the pump
and valve housings engage in slots.

10. Check operation of the boiler. Refer to Frame 57.

Support plate

Discharge pipe

M4 screw

20
55

M4 screw

Self tapper
screw

Sensor

Electrical lead

Securing pin

20
42

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1548



49

SERVICING

isar - Installation and Servicing

Screws
C.

B .

A.

Hinge arms
Control box mounting bracket

Electrical lead Control box

Control box

Control
box

nm
75

41

Low voltage lead

Clamp

�

��� ����

Display
unit

�	
� ��
����

1. Refer to Frame 57.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Remove the 2 screws and allow the user control  to lower.

4. Push out the mains switch from the rear, as shown.

5. Fit the new switch, ensuring that the electrical leads are

72 MAINS SWITCH REPLACEMENT

71 CONTROL BOX REPLACEMENT
1. Refer to Frame 57.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Swing the control box down into the servicing position.
Refer to Frame 51.

4. Unplug the user control electrical lead and low voltage
lead from the control box and remove the control. Refer
to diagram A.

5. Return the control box to the working position and
secure with the clamp. Unscrew the mounting bracket
screws to remove the bracket. Refer to diagram B.

6. Release the clamp and carefully remove the control
box from the hinge arms. Refer to diagram C.

7. Unplug all the electrical wiring from the control box and
remove.

8. Transfer mounting bracket and hinge arms to the new
control box.

9. Reassemble in reverse order, ensuring that the control box
is located correctly in the housing before reconnecting the
electrical wiring.

10. Check operation of the boiler. Refer to Frame 57.

replaced on the correct terminals (refer to Frame 36) and
the key on the switch is correctly aligned with the slot in the
plastic moulding.

6. Reassemble in reverse order.

7. Check operation of the boiler. Refer to Frame 57.

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1549



50

SERVICING

isar - Installation and Servicing

2

Display

unit

E
c
l 
2
0
4
4

Note. Only the display unit is replaced.

1. Refer to Frame 57.
2. Loosen the screw on the underside of the user control.
3. Pull the display unit forward to remove.
4. Push the new display unit into position.
5. Reassemble in reverse order.
6. Check operation of the boiler. Refer to Frame 57.

73 USER CONTROL REPLACEMENT

74 PRESSURE GAUGE REPLACEMENT

1. Refer to Frame 57.

2. Drain the boiler. Refer to Frame 77.

3. Unscrew the pressure gauge and discard.

4. Fit the new pressure gauge, using a suitable jointing
compound.

5. Refill the boiler. Refer to Frame 36.

6. Check operation of the boiler. Refer to Frame 57.

20
41

Pressure gauge

Flow isolation valve
(shown in the open position)

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1550



51

SERVICING

isar - Installation and Servicing

nm8767

Air vent

Plug

Spark GeneratorFan

75 SAFETY RELIEF VALVE REPLACEMENT
1. Refer to Frame 57.

2. Remove the casing front and bottom panels. Refer to
Frames 49 & 50.

3. Drain the boiler. Refer to Frame 77.

4. Remove the discharge pipe.

5. Remove the 4 screws retaining the rear support plate and
withdraw the plate.

Note.The M4 screws fit the casing and the self -tapping screws
fit the plastic pump and valve housings, as shown.

6. Withdraw the securing pin.

76 AUTOMATIC AIR VENT REPLACEMENT

1. Refer to Frame 57.
2. Remove the boiler front and sealing

panels. Refer to frames 49 & 50.
3. Drain the boiler. Refer to frame 77.
4. Remove the turret from the boiler. Refer to

frame 26.
5. Release the silicon tubing from the

sample point.
6. Release the electrical connections from

the dry fire thermistor.
7. Release the electrical connections from

the spark generator.
8. Remove the M5 x 10 screw retaining the

top flue manifold casting.
9. Remove the casting.
10. Remove the fan from the boiler.  Refer to Frame 52.
11. Remove the burner from the heat exchanger.  Refer to

Frame 53.
12. Unscrew the air vent from its heat exchanger mount and replace.
13. Re assemble the boiler in reverse order.
14. Refill the boiler. Refer to frame 36. Check for leaks around the new air vent

joint.
15. Check the operation of the boiler. Refer to frame 57.

7. Remove the safety valve.

8. Fit the new safety valve and refit the securing pin.

9. Reassemble in reverse order, ensuring correct
location of screws in the support plate and that tabs
on the pump and valve housings engage in slots.

10. Reconnect the discharge pipe.

11. Refill the boiler.  Refer to Frame 36.

12. Check operation of the boiler. Refer to Frame 57.

Support plate
M4 screw

20
12

M4 screw

Self tapper
screw

Discharge pipe

Safety relief valve

Securing pin
20

39

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1551



52

SERVICING

isar - Installation and Servicing

77 DRAINING THE BOILER

1. Refer to frame 57.
2. Remove the boiler bottom panel. Refer to Frame 50.
3. Close all the water isolating (CH and DHW) valves on

the piping frame.
4. To drain the central heating circuit, attach a length of

hose to the drain point and open the drain valve.
However it must be noted that some residual water
may be experienced during the replacement of
components.

5. As there is no direct drain for the domestic hot water
circuit, depending on the location of the boiler, opening
the lowest hot water tap may drain this circuit.
However it must be noted that some residual water
will be experienced during replacement of
components.

6. After replacing any component on the boiler, close
the drain valve, remove the hose and open all
system isolating valves (re-pressurise as
appropriate) before proceeding to check operation
of the boiler.

7. Check operation of the boiler.  Refer to Frame 57.

78 DIVERTER VALVE MECHANISM REPLACEMENT

1. Refer to Frame 57.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Drain the boiler. Refer to Frame 77.

4. Remove the 4 screws retaining the rear support
plate and withdraw the plate. Refer to Frame 75.

Note. The M4 screws fit the casing and the self-
tapping screws fit the plastic pump and
valve housings.

5. Remove the valve actuator head. Refer to Frame
67.

6. Remove the 4 Allen screws and remove the valve
mechanism.

7. Fit the new valve mechanism and gasket,
ensuring correct fit over the location pin.

8. Reassemble in reverse order, ensuring correct
location of screws in the support plate and that
tabs on the pump and valve housings engage in
slots.

9. Refill the boiler.  Refer to Frame 36.

10. Check operation of the boiler. Refer to
Frame 57.

isolating valve

(shown closed)

Isolating valves

Drain point

Drain valve

n
m

8
4
5
7

TO OPEN

Compression

gas cock

n
m

7
5
4
6

Valve

mechanism

Allen

screws

Locating

pin hole

Gasket

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1552



53

SERVICING

isar - Installation and Servicing

80 PUMP HEAD REPLACEMENT (Wilo and CP)

1. Refer to Frame 57.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Drain the boiler. Refer to Frame 77.

4. Swing the control box down into the
servicing position. Refer to Frame 51.

5. Disconnect the electrical lead from the
pump.

6. Remove the 4 Allen screws retaining the
pump head.

7. Remove the pump head.

8. Fit the new pump head.

9. Reassemble in reverse order.

10. Refill the boiler.  Refer to Frame 36.

11. Check operation of the boiler. Refer to
Frame 57.

79 DHW PLATE HEAT EXCHANGER REPLACEMENT (WILO AND CP)

1. Refer to Frame 57.

2. Remove the casing front & bottom panel.
Refer to Frames 49 & 50.

3. Drain the boiler. Refer to Frame 77.

4. Remove the 4 screws securing the rear
support plate and withdraw the plate. Refer
to Frame 75.

Note. The M4 screws fit the casing and the
self-tapping screws fit the plastic pump
and valve housings.

5. Remove the 2 Torx screws (allen screws on
the CP waterset) securing the plate heat
exchanger from the valve and pump
housings.

6. Raise the RH side of the heat exchanger,
lower the LH side through the bottom of the
boiler and remove.

7. Fit the new heat exchanger, using the new
gaskets supplied.

8. Reassemble in reverse order ,ensuring
correct location of screws in the support
plate and that tabs on the pump and valve
housings engage in slots.

9. Refill the boiler.  Refer to Frame 36.

10. Check operation of the boiler. Refer to
Frame 57.

Wilo pump shown

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1553



54

SERVICING

isar - Installation and Servicing

Refer also to Frame 8 - 'Boiler Exploded View'.
IMPORTANT
Before starting the removal procedure, protect the gas and
electrical controls with a waterproof sheet or plastic bag.

1. Refer to Frame 57.

2. Remove the boiler front, bottom and sealing panels.
Refer to Frames 49 & 50.

3. Drain the boiler. Refer to Frame 77.

4. Remove the control box and place on one side. Refer to
Frame 71.

5. Remove the fan / venturi assembly and place on one
side. Refer to Frame 52.

6. Remove the burner and place on one side. Refer to
Frame 53.

7. Remove the ignition and detection electrodes. Refer to
Frames 63 & 64.

8. Remove the spark generator. Refer to Frame 65.

9. Release the flue from the turret.  Refer to Frame 26.

10. Remove the turret from the boiler. Refer to Frame 26.

11. Release the silicone tubing from the sampling point.

12. Release the electrical connection to the dry fire
thermistor.

13. Remove the M5 x 10 screw retaining the top flue manifold
casting.

14. Remove the top casting of the flue manifold from the
appliance.

15. Remove the automatic air vent. Refer to Frame 76.

16. Undo the 4 M x 10 screws securing the bottom flue
manifold casting and remove.

81 HEAT ENGINE REPLACEMENT
17. Remove the edge clip securing the dry fire thermistor

wiring.

18. Remove the blind grommet to gain access to the return
pipe securing bracket.

19. Remove the M5 screw and remove the return pipe
securing bracket by sliding forwards.

20. Remove the overheat thermostat and the control
thermistor. Refer to Frame 62.

21. Remove the securing pin to release the flow pipe.

22. Remove the condensate ‘S’ trap. Refer to Frame 69.

23. Remove the 2 M5 screws securing the interpanel to the
back panel.

24. Slide the heat exchanger and interpanel assembly upward
to disengage and remove from the casing, complete with
the flow pipe.

25. Remove the 2 M6 countersunk screws, remove the
interpanel and transfer to the new heat exchanger.

26. Remove the M5 screw and remove the flow pipe securing
bracket.

27. Remove the flow pipe and transfer to the new heat
exchanger.

28. Reassemble in reverse order, replacing gaskets or seals
if any sign of damage or deterioration is evident.

Note.The heat exchanger is supplied with new combustion
chamber insulation boards. These should be fitted (refer
to Frame 68 before the burner and fan / venturi
assembly and before the ignition and detection
electrodes are replaced).

29. Refill the boiler. Refer to Frame 36.

30. Check operation of the boiler. Refer to Frame 57.

n
m

8
7

6
8

23

13

12 15

16

16

18

20

19

26

25

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1554



55

SERVICING

isar - Installation and Servicing

83 BOILER SEALING PANEL SEAL REPLACEMENT

1. Refer to Frame 57.

2. Remove the boiler front and sealing
panels. Refer to Frames 49 & 50.

3. Remove the old seal from the casing
and thoroughly clean the casing
surfaces.

4. Fit the new adhesive seals, note that
they are supplied to the correct length
for the relevant sides.

5. Reassemble in reverse order.

6. Check operation of the boiler. Refer to
Frame 57.

Note. Ensure that the boiler sealing
panel is correctly sealed,
compressing the seal to make an
airtight joint.

82 EXPANSION VESSEL REPLACEMENT

1. Refer to Frame 57.

2. Drain the boiler. Refer to Frame 77.

3. Unscrew all the gas and water connection unions on the
boiler side of the valves.

4. Remove the screw from the turret clamp and remove.

5. Remove the turret.

6. Lift the complete boiler from the wall mounting frame
and place on a flat surface, face down, to expose the
expansion vessel.

7. Unscrew the union nut on the vessel water connection
pipe.

8. Unscrew the 2 screws from the securing clamp and
remove.

9. Remove the expansion vessel.

10. Fit the new expansion vessel.

11. Reassemble in reverse order.

12. Refill the boiler.  Refer to Frame 36.

13. Check operation of the boiler. Refer to Frame 57.

Note.

If preferred, and for convenience, a new expansion vessel
may be installed elsewhere in the heating system, providing
it ensures equivalent system protection.

�

�

�
�
�
�
�
�
�
	

�
��
���
 ������

������
� �����

���� �	�
 �� 
�� ��	���

S
E

R
V

IC
IN

G

203319-3.pmd 27/03/2008, 08:1555



56

FAULT FINDING
F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G

isar - Installation and Servicing

84 FAULT FINDING CHART MAIN MENU

ALTERNATING 'L' 'F' GO TO FRAME 85

ALTERNATING 'L' 'E' GO TO FRAME 86

ALTERNATING 'L' 'A' GO TO FRAME 87

ALTERNATING 'L' '8' GO TO FRAME 88

ALTERNATING 'H' '1' GO TO FRAME 89

ALTERNATING 'H' '2' GO TO FRAME 90

ALTERNATING 'H' '3' GO TO FRAME 91

ALTERNATING 'H' '4' GO TO FRAME 92

ALTERNATING 'H' 'F' GO TO FRAME 93

In order to assist fault finding the boiler has an LED diagnostic display.  The key to the display codes is as follows:

ALTERNATING 'H' 'n' GO TO FRAME 94

ALTERNATING 'H' 'E' GO TO FRAME 86

ALTERNATING 'H9' GO TO FRAME 92

ALTERNATING 'L9' GO TO FRAME 92

203319-3.pmd 27/03/2008, 08:1556



57

FAULT FINDING

F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

isar - Installation and Servicing

85 L.....F.....(FLAME DETECTION ERROR)

Check the ignition electrode and associated harness
for:      continuity, visual condition, position

 (Refer to Frame 63).

Are these functioning correctly ?

Check gas valve
wiring for
continuity

YES

Check the detection electrode and
associated harness for:

continuity, visual condition, position
(Refer to Frame 64).

Replace as necessary.

If the boiler reset button is
pressed does the boiler ignite for

a short time then extinguish?

Is 200V DC supply available
at the gas valve ?

(see Note)

NO

YESYES

Is gas pressure available at
the boiler inlet ?

Replace PCB

Check gas supply
and rectify fault

Replace ignition electrode and associated
harness as necessary

NO

Replace gas valve

YES

NO

NO

86 L.....E..... or H.....E..... (PCB ERROR)

Note. Due to the wave form of the rectified voltage, the reading will vary depending on the type of meter used to
measure the value (some may measure the possible peak voltage of 339V). In general terms a reading greater
than 150V indicates that the correct voltage is supplied to the gas valve. As an alternative to a meter, a mains
voltage checking device may be used. E.g. an electrical screwdriver or mains tester.

Check spark generator and associated
harness for continuity and visual condition.

 (Refer to Frame 65).

Are these functioning correctly ? Replace spark
generator

YES

NO

Internal fault within the PCB

Replace PCB

Press and hold reset button for 2
seconds. Does boiler operate

correctly?

Turn boiler off and wait for 5
seconds. Turn boiler on.

Does boiler operate correctly?

NO

NO

YES
OK

YES
OK

Check syphon
and condensate
drain pipework

for blockage

203319-3.pmd 27/03/2008, 08:1557



58

FAULT FINDING
F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G

isar - Installation and Servicing

Does the pump setting give a differential
across the boiler in excess of 25 oC ?

Can the overheat condition be reset by pressing
the boiler reset button when the system is cold ?

Replace the system pumpSet CH control knob to maximum.
If the overheat trips again measure the flow temp:

Over 90 oC Check control thermistor
(Refer to Frame 89)

Under 90 oC Replace overheat 'stat

YES

YES

Check that the pump is rotating freely.
Is differential now below 25 oC ?

NO

NO

87 L.....A..... (OVERHEAT ERROR)

Fill and vent the system and open all
isolation valves

YES

Is the boiler and CH system filled with
water and all isolation valves open ?

OK

NO YES

NO
Replace overheat thermostat

88 L....8..... (FAN ERROR)

Is nominal 330 V DC present across
red and blue at the fan connector as

reset button is pressed?

Replace fanYES

NO

Replace harness

89 H.....1..... (CONTROL THERMISTOR [FLOW]  ERROR)

YES

Is there continuity between the
PCB and the thermistor ?

Check resistance using a suitable multimeter
connected across the thermistor’s terminal pins

At 25 oC expect 9,700 - 10,300 Ohms

At 60 oC expect 2,400 - 2,600 Ohms

At 85 oC expect 1,000 - 1,100 Ohms

Remove the boiler control thermistor from the
CH flow pipe and disconnect thermistor wires.

Are the thermistor values correct ? Replace the thermistor
NO

NO

YES Replace PCB

Check and replace wiring as necessary

Replace PCB

YES Is 14V DC present across
yellow and pink at the fan

connector?

Check wiring harness for continuity.
Is there continuity? NO

YES
NO

Note.
With V9 Primary Control PCB, overheat LA/HA or H9/L9 when
reset will display 3 horizontal lines and will not attempt to refire
until the temperature in the heat exchanger drops below 50oC.

203319-3.pmd 27/03/2008, 08:1558



59

FAULT FINDING

F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

 F
A

U
L

T
 F

IN
D

IN
G

isar - Installation and Servicing

90 H.....2..... (CONTROL THERMISTOR [RETURN] ERROR)

YES

Is there continuity between the
PCB and the thermistor ?

Remove the boiler return thermistor from the
CH return pipe.

Are the thermistor values correct ? Replace the thermistor
NO

NO

YES Replace PCB

Check and replace wiring as necessary

91 H.....3..... (DHW THERMISTOR ERROR)

YES

Is there continuity between the
PCB and the thermistor ?

Remove the boiler DHW thermistor from the plate
heat exchanger and disconnect thermistor wires.

Are the thermistor values correct ? Replace the thermistor
NO

NO

YES Replace PCB

Check and replace wiring as necessary

Check resistance using a suitable multimeter
connected across the thermistor’s terminal pins

At 25 oC expect 9,700 - 10,300 Ohms

At 60 oC expect 2,400 - 2,600 Ohms

At 85 oC expect 1,000 - 1,100 Ohms

Check resistance using a suitable multimeter
connected across the thermistor’s terminal pins

At 25 oC expect 9,700 - 10,300 Ohms

At 60 oC expect 2,400 - 2,600 Ohms

At 85 oC expect 1,000 - 1,100 Ohms

203319-3.pmd 27/03/2008, 08:1559



60

FAULT FINDING
F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G
 F

A
U

L
T

 F
IN

D
IN

G

isar - Installation and Servicing

92 H.....4.... (DRY FIRE THERMISTOR ERROR)

Check wiring for continuity from the
PCB to the dry fire thermistor

Can the fault condition be reset by switching off
the mains supply to the boiler ?

Is the system filled and vented and all
isolation valves open ?

Is the pump operating correctly?
Ensure flow through system.

NO

Are thermistor values correct ?

Replace PCB Replace thermistor

Fill and vent the
system and open all

isolating valves

YES

Are thermistor values correct ?

Inspect heat exchanger
for blockage or
damage in the

flueways.  Clean or
replace as necessary

Replace thermistor

NO

94 H......n..... (PHASE REVERSAL ERROR)

Check wiring to the boiler for
reversed live and neutral

YES NO

YES NO

93 H......F..... (FLAME DETECTION ERROR)

Replace flame detection electrode

Is there continuity between the 2 terminal pins ?
NO

YES

Remove flame detection electrode terminal from PCB

Replace PCB

Check resistance using a suitable multimeter
connected across the thermistor’s terminal pins

At 25 oC expect 9,700 - 10,300 Ohms

At 60 oC expect 2,400 - 2,600 Ohms

At 85 oC expect 1,000 - 1,100 Ohms

Check resistance using a suitable multimeter
connected across the dry fire thermistor’s

terminal pins

At 25 oC expect 9,700 - 10,300 Ohms

At 60 oC expect 2,400 - 2,600 Ohms

At 85 oC expect 1,000 - 1,100 Ohms

H9/L9 (HEAT EXCHANGER OVERHEAT)

Note.
With V9 Primary Control PCB, overheat LA/HA or H9/L9 when
reset will display 3 horizontal lines and will not attempt to refire
until the temperature in the heat exchanger drops below 50oC.

203319-3.pmd 27/03/2008, 08:1560

















Ideal Boilers, P.O. Box 103, National Ave, Kingston upon Hull,
HU5 4JN. Telephone:  01482 492 251 Fax: 01482 448 858.
Registration No. London 322 137.

Technical Training

Ideal Stelrad Group pursues a policy of continuing
improvement in the design and performance of its products. The
right is therefore reserved to vary specification without notice.

The Ideal Boilers Technical Training Centre offers a series
of first class training courses for domestic, commercial and
industrial heating installers, engineers and system
specifiers.
For details of courses please ring: .............   01482 498 432

Manufactured under an ISO 9001
registered quality management system

The code of practice for the installation,
commissioning & servicing of central heating systems

Ideal Installer/Technical Helpline: 01482 498 663
www.idealboilers.com

FM 59915

203319-3.pmd 27/03/2008, 08:1568


	back1: 


